Series DACBA/4 Set-1
T99-UF hiS
Q.P. Code 31/4/1
T 4.
qlierefl IR0 IS i IA-GIEdRl
Roll No. TE-Y8 W AW el
Candidates must write the Q.P. Code
on the title page of the answer-book.
SCIENCE
ReRa a7 : 3 o2 SfeHTH 37 : 80
Time allowed : 3 hours Maximum Marks : 80
e NOTE

FHAT A9 H A b 389 TA-97 § giga | (1)

75 27 § |

Please check that this question paper
contains 27 printed pages.

Fo Sa W o 6 oW gH-w # (1)

399w B |

Please check that this question paper
contains 39 questions.

JH-TT § Qe 9 H AR few Mo
Te-9F hig i leefl IT-giEnT
T@-98 W o7 |

Q.P. Code given on the right hand side of
the question paper should be written on
the title page of the answer-book by the
candidate.

FHUAT I T IW TA@H T J[E & °

Uge, ST-YIEdshl W U7 T hATSH
vy ford |

Please write down the serial number of
the question in the answer-book before
attempting it.

T YH-YI Rl Ugd & fou 15 fie|(V)

w1 gag fem mm g 1 ysE-ud ow&m
foawor qatg 9 10.15 s foRen e |
10.15 S5 © 10.30 S5 doh D had

Wwaﬁq%ﬁaﬁtsamﬁxés‘qﬁm
I IR-YICqh! W IS I &I foae |

14-31/4/1 1

15 minute time has been allotted to read
this question paper. The question paper
will be distributed at 10.15 a.m. From
10.15 a.m. to 10.30 a.m., the students will
read the question paper only and will not
write any answer on the answer-book
during this period.

P.T.O.

Previous Pathshala




Wﬁaﬂ:
FHETITRET 145911 @1 a5 FIae] & Tigq ST 371 axed @ 9Iei Hilarg :

(1)
(it)
(iii)

(iv)

(v)

(vi)

(vit)

(viii)

3G F97-97 H F7 39 o7 & | @Y1 I97 7T & |
T8 Y97-97 Gier @UST H [@Y1fod [ 78— &, &, T, g 0T F |

GUE & - Y97 &I 1 20 T%F FFIEHHIT FHR & 7 & | T4 97 1 37 F

g/

QU & - Y97 G&IT 21 @ 26 % 3ld TG-FT0T JHR & 97 8 | T9% 97 2 37!
B8 | 57 o] & IR 30 G 50 755] 7 15T T =018 /

@GUg T - J97 G&I7 27 T 33 0% AG-IHRIT JHR & 97 & | F9% 97 3 37 &7
& 1 57 3991 & I 50 @ 80 ¥egl H 13€ 517 =037 |

GUE T - 97 &7 34 T 36 7% FH-I70T JBR & J97 & | FedF 97 5 3Hh1 &1
8/ 57 3% & F80 & 120 Y=g H 13w 57717 F1f3w |

GUE & - 97 G&I1 37 T 39 T 3 FIa-3TT4TRa/TH-STTRA 351 & Tooh
& 4 37H & o7 (37-39 Gizd) &/

J97-97 § GHY faheq T& 1G4 T 8 | FEfN, $T GUsl § 37aR® faheq 15T 77
& | 39 YR & J991 7 a0 & [aheq & I e |

«us

J97 G&IT 1 T 20 TF & J9P J97 7 13T 7T IR [a%heql § T g Iraq 19T Jiqu

3TN ffgw | 17 I & 170 15 Ficqes 3h7 761 & / 20%1=20
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(A) Toem (SraEes) sl (B)  farzermum afyfshan
©) Tgfazemmm stfirfsran (D) @A eAfafshan
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frfeiRaa o @ fopmes ster rfirfshan & e fehar <11 wemar B 2
(A) HNO; 3R NaOH (B) H,SO0, 3R KOH
(C) CH3COOH 3R NaOH (D) HCl 3R NH,OH
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General Instructions :

Read the following instructions very carefully and strictly follow them :

(i)
(it)
(iit)

(iv)

(v)

(vi)

(vii)

(viii)

This question paper comprises 39 questions. All questions are compulsory.
This question paper is divided into five sections — A, B, C, D and E.

Section A - Questions No. 1 to 20 are Multiple Choice Questions. Each
question carries 1 mark.

Section B - Questions No. 21 to 26 are Very Short Answer type questions.
Each question carries 2 marks. Answer to these questions should be in the
range of 30 to 50 words.

Section C - Questions No. 27 to 33 are Short Answer type questions. Each

question carries 3 marks. Answer to these questions should in the range of
50 to 80 words.

Section D - Questions No. 34 to 36 are Long Answer type questions. Each

question carries 8§ marks. Answer to these questions should be in the range of
80 to 120 words.

Section E — Questions No. 37 to 39 are of 3 source-based /case-based units of
assessment carrying 4 marks each with sub-parts.

There is no overall choice. However, an internal choice has been provided in
some sections. Only one of the alternatives has to be attempted in such
questions.

SECTION A

Select and write the most appropriate option out of the four options given for
each of the questions no. 1 to 20. There is no negative marking for incorrect
response. 20x1=20

Zn + 2CH3COOH —— (CH3COO0), Zn + Hy

The above reaction is a :

(A)  Decomposition reaction (B) Displacement reaction
(C)  Double displacement reaction (D) Combination reaction
2. An aqueous solution of a salt turns blue litmus to red. The salt could be
the one obtained by the reaction of :
(A)  HNO3 and NaOH (B) H,SO, and KOH
(C) CH3COOH and NaOH (D) HCland NH,OH
14-31/4/1 3 P.T.O.
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TR IAT-TAT Siehtl H W =R T i — ehid, Ueehigid], TEgaaiieh 3T 3T
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(A) T IR Ueshliard

(B) Uchigial 3R EESIFAlleh 3T

(C) T N FeReh 3T
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T AT 3T TYH AT AT H 418 T areft &rqy &

(A) Tieg 3 A (B) wifem M foew

(C) IR AR e (D) s 3R foear

IS (CgHg) % 3] | IUFEd Ushet aTrary 37N fatmery Y T %aw: §

(A) 636 (B) 933

(C) 839 (D) 333

Gl W, S qrEE Rl kAT qUT B S R a9 (1) WIEH, (i) SEiEEse,
3 (iii) 991 SfaHa; ufafda g1 9 8 A

(A) () U 375, (i) e 3R (jil) o€ 3 §

(B) () UHHT 318, (i) h1E, (iil) TEH 3 AR ferada o
(C) (1) T, (i) 96T e 3R fromia, (i) THAT ot |
(D) (1) IR, (ii) THHT 7, (iii) I 37 3R freredia |

qfTl ok G 1 HRUT & Jhg HeHS HL ATl Ied BHM S Had 3

(A)  3ifedd (B)  WTgeIhISHA
(C) UfsHtesw 37 (D) fefem
s Jaea i fafer gro 3mme S\ aret Irey §
(A) T, AT, (B) =T, W, 3T
(C)  <hal, HaW, TEI (D) odidT, TEi, AT
SIS h TP o THI WTE o @I JTAl Sl T HIT g
(A) S (B) HATH
(C) (D) 9o
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Four solutions, namely glucose, alcohol, hydrochloric acid and sulphuric
acid filled in four separate beakers are connected one by one in an electric
circuit with a bulb. The solutions in which the bulb will glow when
current is passed are :

(A)  Glucose and alcohol
(B)  Alcohol and hydrochloric acid
(C)  Glucose and sulphuric acid

(D)  Hydrochloric acid and sulphuric acid

The metals which are found in both free state as well as combined state
are :

(A)  Gold and platinum (B) Platinum and silver
(C)  Copper and silver (D)  Gold and silver

The number of single and double bonds present in a molecule of benzene
(CgHg) respectively, are :

(A) 6and6 (B) 9and3

(C) 3and9 (D) 3and3

In human beings, when the process of digestion is completed, the
(i) proteins, (ii) carbohydrates, and (iii) fats are respectively finally
converted into :

(A) (1) Amino acids, (ii) glucose and (iii) fatty acids

(B) (i) Amino acids, (ii) glucose, (iii) fatty acids and glycerol
(C) () Glucose, (ii) fatty acids and glycerol, (iii) amino acids
(D) (i) Sugars, (ii) amino acids, (iii) fatty acids and glycerol

A plant growth inhibitor hormone which causes wilting of leaves is
called :

(A) Auxin (B)  Cytokinin
(C)  Abscisic acid (D)  Gibberellin

The plants that can be raised by the method of vegetative propagation
are :

(A)  Sugarcane, roses, grapes (B)  Sugarcane, mustard, potato
(C) Banana, orange, mustard (D) Papaya, mustard, potato

The part of seed which is a source of food during germination of seed is :

(A) Cotyledon (B) Radicle
(C)  Plumule (D) Embryo
14-31/4/1 5 P.T.O.
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10. TR IHF R TG JHh o G g1 JHAS o1 3 | fopeft ama & gt |
U <l G Bl R
(A) 23 (B) 44
(C) 46 (D) 92
11. g 3N Jd & 0 qadaies Hae: g R % 2 | Ffe = d gt h
I 2 x 108 m/s B, A STA H Y1 hl 1A 2 :
(A) % « 108 m/s (B) g « 108 m/s
(©) g « 108 m/s (D) % « 108 m/s
12. S Yo YRI¥T 1 ohis (ohCU1-al ToRell UE &1 § ToRAT 8 S8l 9 o 3Tcd—d 9&d
o1 faemme g, a1 39 & § &I §9 A Jehiftid g4 JTell kTSt 1 9t (T) 8 -
(A) 9 (B) |
(C) e (D)  diem
13. fr=faRea ufateasht & Taemt w fo=m :
3Q
20 m 20 40 05 Q
20 m 30 30 05 Q
I IT 11T 1A%
T gedh Jg 1 Q Jra/aTel §AeE 8/7
(A  IRIV (B) had IV
(C) I3 II (D) I, II 3 III
14. 20 Q UfeRiY i ig foga sEal 5 A 910 ol 8 | 39 3%l § 30 T H 370
ST % :
(A) 150004d (B) 6000d
(C) 15004d (D) 3000d
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10. A zygote is formed by the fusion of a male gamete and a female gamete.
The number of chromosomes in the zygote of a human is :
(A 23 (B) 44
(C) 46 (D) 92
.. .3 4 :
11. Absolute refractive index of glass and water is 2 and 3 respectively. If
the speed of light in glass is 2 x 108 m/s, the speed of light in water is :
(A) % « 108 m/s (B) g « 108 m/s
(&) % x 108 m/s (D) % x 108 m/s
12. When a beam of white light passes through a region having very fine dust
particles, the colour of light mainly scattered in that region is :
(A) Red (B) Orange
(C) Blue (D)  Yellow
13. Consider the following combinations of resistors :
3Q
20 m 20 40 05 0
I II 111 v
The combinations having equivalent resistance 1 Q is/are :
(A) TandIV (B) OnlyIV
(C) TandII (D) I,IIandIII
14. An electric iron of resistance 20 Q draws a current of 5 A. The heat
developed in the iron in 30 seconds is :
(A) 15000 J (B) 6000dJ
(C) 15004d (D) 3000d
14-31/4/1 7 P.T.O.
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15. <his 3TFATRR 9T ABCD fS&@ amq 1 vaifed 8 @i 8 ol #ig =mees XY &
fehe 39 TR oo g foh meTeh dTe i1 Y[ AB o TWT= & a1 U1%1 &l aa
T g | Ifg 3@ H g ER @Tcteh B TR g I Tenfyg s <& 9, at

=ldsh XY :
X
B L
1] | |
A — D
Y
A) ferwm |

(B) 9IS Al ST AB 3hl 3R T &4 |
(C) 9T <l ST AB § gL shl 3R Tf s |
(D) 319+ & oh TRA: YUM AT |

16. R $o i fou mu § -
() e T AUTTSe
(i) ofa Wig<e U9 & [fba

(iii) caTSAl <h Wicil i hl Sdd

(iv) ol 3R Gfesa & foctd
(v) YU gt shHTS

3§ 3rag-fefiei smufise § .
(A) () AR (i)

(B) (i) 3T (iii)

©) @), (iv) 3 (v)

(D) (), (iii) 3R (iv)
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15. A rectangular loop ABCD carrying a current I is situated near a straight
conductor XY, such that the conductor is parallel to the side AB of the
loop and is in the plane of the loop. If a steady current I is established in

the conductor as shown, the conductor XY will

(A)
(B)
()
(D)

X
N SR
di] ! }
A — D
Y

remain stationary.
move towards the side AB of the loop.
move away from the side AB of the loop.

rotate about its axis.

16. Some wastes are given below :

1)
(ii)
(111)
(iv)
v)

Garden waste

Ball point pen refills

Empty medicine bottles made of glass
Peels of fruits and vegetables

Old cotton shirt

The non-biodegradable wastes among these are :

(A)
(B)
()
(D)

14-31/4/1

(1) and (ii)
(i1) and (iii)
(1), iv) and (v)
(i), (ii1) and (iv)
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9T G&IT 17 @ 20 & 70, 31 &97 30 70 § — 59 vk &1 39697 (A) TIaT
gt &1 HRUT (R) GRT 3ifha a1 747 § | 37 941 & @gl 3¢ 719 13T 77 &gt
(A), (B), (C) 3t (D) 7 & ga giferv |
(A)  IHFAT (A) AR FHRO (R) THI H&l 8 3T FHRO (R), AHHA (A) hH
T ST LAl 8 |
(B) ke (A) 3T IO (R) GHI &1 &, Wrd R (R), HAMMHAT (A) =l
HE AT g Ll ¢ |
(C)  AHYT (A) Wl 8, Wg SR (R) T & |
(D) AU (A) A 8, T HRU (R) T 2 |

17. 379%97 (A): 9Td % TohIss FTEhi d I i oA HoiA Ty arg fehita

el ToRarT ST TehaT B |

FRU(R): WS ¥ GehEs 7k €Y g arg ¥ uiafdd & 9d & |

18. 3Y%H7 (A): WM e ° 37fci< hl 37uer foer it Uiy fufa @1t gidt & |
FRU(R):  T4o@ =1 i o fafis o 0 sfem o) 99 sen gan 2 |

19. IYHYT (A): Frh &F W@U HH Wt TH-gal 1 Afdesed Tal il & |

HRU(R): Al a8 Ufdesed +, I Jldesed fog W fehg=l H g3 q
faumatl 1 3R Hehd TN S d9a 771 7 |

20. FYFIT(A): S & Gl I T+ AU ATFHSH 9w B |

HRU(R):  SFEISH o T AT MU Ao 8§ GIch aihl AT

A 3 |
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For Questions number 17 to 20, two statements are given — one labelled as
Assertion (A) and the other labelled as Reason (R). Select the correct
answer to these questions from the codes (A), (B), (C) and (D) as given
below.

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.

(D)  Assertion (A) is false, but Reason (R) is true.

17. Assertion (A) : The extraction of metals from their sulphide ores cannot
take place without roasting of the ore.

Reason (R):  Roasting converts sulphide ores directly into metals.

18. Assertion (A) : In the human heart ventricles have thicker muscular
walls than atria.

Reason (R):  Ventricles have to pump the blood into various organs.

19. Assertion (A) : Magnetic field lines never intersect each other.

Reason (R): If they intersect, then at the point of intersection, the
compass needle would point towards two directions, which
is not possible.

20. Assertion (A) : Oxygen is essential for all aerobic forms of life.
Reason (R): Free oxygen atoms combine with molecular oxygen to

form ozone.

14-31/4/1 11 P.T.O.
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Qs @

97 G 21 @ 26 3fd TG-IT0T I97 3 |

21.

22.

23.

24.

25.

26.

(a) Torehl To=0 9 I WEAC 0 1 U9 319 AIfSI FARES Tehl SHH HTg
GeR[eh A THAR T |

()  rffshan § IcASIa B aret! 9 1 919 ffay |
(i) o eqor feran SO S 38 T ot qdeer (1) o, qen (ID) g
(fied) i foflew® 9 & Tl S@m 2 38 19 hl Ui
(STrefa/amehia) & aR | 79T fspy fafau |
T
(b) S 4IqE 3Tl d AMNTRAT HLeh TG0 AR FTEESH 19 S & | hig
3280 TR 38 TS Shifo | 30 T <hl IUfedfd =1 wieqor 19 fhm
TR Ll 2

SATE qUEU g HqW X I BRQIhEA oh S [aWed hifT | Fqw
BTSSIhIS oh Qg ohl STTHIShAT o ICATGl <hl FAT SHTET |

(a) & digi 6 g1 ot a9 @ 9 @ i sravIekar gt 8 | Weg I8
qT SAfaHA: diY S Il 9 dge ST @ | saredn it foh van foed
ThR BT 8 |

AASAT

(b) 37T gRT ST A oA 9Nl o YehR okl A0 feIfgu | samea hifse
for a8 Sfta 39T Wio ford Yok UBUT T B 3T 39 U=aT @ |

foreht wemfa (Tfisfisr) st Saxshifaar =t fafirarast gro sgran fierar 3 | 3ere
<R 3 TS IR |

S-gLgfeear ¥ Wifea forelt =afeh w1 fgwhiordl oi|l 1 sTawaehat 3 | AfG 38
— 4-0 TSI 3T + 2-0 SIS HAT o 1 AHT hl HATELIHAT &1, a §7 I
H " B A8 IFeh g I gfee (Tehe-gfie i) =1 dxned um M s&ehl
hIRE U FAT 2 ?

T dW A I B W THH UYSY, HHN o N HAN: A 02 mm 3R
0-3 mm b &, bl Ueh-Ueh hish [hH INTY H TANd fFm M 2 139 a1 8 A
-G Teh IR YRUY § 9RT & JaTg § 31feres Ifaler Icqd him ? 3199 I h
gfse shifvT |
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SECTION B

Questions no. 21 to 26 are very short answer type questions.

21.

22,

23.

24.

25.

26.

(a) 1 gram of solid sodium chloride was taken in a clean and dry test
tube and concentrated sulphuric acid was added to it.

) Name the gas evolved in the reaction.
(ii) What will be observed when this gas is tested with (I) dry,

and (II) wet blue litmus paper ? Write your conclusion about
the nature (acidic/basic) of this gas.

OR
(b)  Some metals react with acids to produce salt and hydrogen gas.
Illustrate it with an example. How will you test the presence of
this gas ?

Distinguish between a saturated and an unsaturated hydrocarbon by
flame test. List the products of combustion reaction of a saturated
hydrocarbon.

(a) We need to water the soil in plants on a regular basis. But it
ultimately reaches the leaves of the plant. Explain how this takes
place.

OR
(b)  Name the type of nutrition exhibited by Amoeba. Explain how food
is taken in and digested by this organism.

The survival of a species is promoted through creation of variations.
Illustrate with an example.

A person suffering from presbyopia needs bifocal lens. If he needs two
lens of power — 4-0 dioptre and + 2:0 dioptre, which one of these two
lenses is for the correction of distant vision and what is its focal length ?

Two wires A and B of same material, having same lengths and diameters
0:2 mm and 0:3 mm respectively, are connected one by one in a circuit.
Which one of these two wires will offer more resistance to the flow of

current in the circuit ? Justify your answer.

2

14-31/4/1 13 P.T.O.
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@uE T

97 G&g1 27 & 33 7Y IFTIT I & |

27.

28.

29.

30.

31.

32.

A CaSO,. L HyO &1 = 9 R TaEfs Tm fafew | gwe!
= 1 fafy fafge | 3w orfufrr w1 vumte g A S
CaS0,. 1 HyO i & if¥fsha il 2 |

IS T UIHTEeh 3 H Yiadd 3= (ATeeleor) rfufshan @i 8 2 3|
qiEdd § ITNT B I 39 o AW [OIRgU | 38 3IU=d ANITRAT i
TR gt fafau | a8 arfufshan 39 rfufshar o forg yoer firg 8 foew
UIHTE T TSI ! IUMEATT § @& BT & ?

(a) AMIhd 3TR@ ! TG d, Fhod g TG H S hl Ulshar 6l

Wﬁﬁ?lsﬂmﬁwﬁmﬁﬁqw SRR & A1
fafeT |
areaT

(b) HHa 54 a3 § FEffad § & T 6l gl-al iHeRTel shi g SISy ¢
(i)  IERRE IR T UMY
(i) Ut
(i) g
TS AU IR YT AU b S QT hl FE ST | Hed b i
F9 (YY) 3R & &9 (yy) & A o 9l o &= G U R F, Fadfd o 7L
% gl | diel S aret dei A fwraar @@ ot 2

e 5 1 FHS &A1 sl gt i | S g9 foeel fore HY @ g A
gfg # 3, ﬁﬁaﬁuﬁﬁm@aﬂw@m%?wuwwﬁquﬁa%w
YT ST 9T 3T YfehT 1 SIS HiVT AT 3ok T IRt ® |

13 BT SIS 9IS W The NI i I AT B | 98 39 TS o heg W Th

TS ok WAl g | 98 39 B T o IR AR THENH §9 § H Arg-gul

foghar 3 | 3HS TIE 98 ST IS @I i T qUYAUTdT 8 I @ 7 6

AlR-T01 T Teh TRy Yo # yafedrd g S ® |

(a) QrE-gl T fauy e § I SHafeyd & Sfran B 2

(b) Freh o T W dArg-gul i Wi (i fehear) 1 $a e 8 2

(¢ 98 W@, e ergfew d-wot WfRad grar 8, # fwfua wd € 2

@ afe o7 o e gramE uiEfasr & it frdl wEae = afaea:
@R ITYH RIS i QeUT, d die-gui fhd Ued § =afedrq
BT 2 39 fera T@rshi &% Yo ok SMYR W FreehiT &7 ok aR H ek
T4 f5ehy T Seoi@ shifoTT |

9
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SECTION C

Questions no. 27 to 33 are short answer type questions.

27. Write the common name and the chemical name of the compound
CaSOy . % H,0. Write the method of its preparation. Give chemical
equation for the reaction, when water reacts with CaSO, . % H,O. 3

28. Why is the conversion of ethanol to ethanoic acid an oxidation reaction ?
Name the oxidising agent used in this conversion. Write chemical
equation for this oxidation reaction. How is this reaction different from
the reaction in which ethanol burns in the presence of oxygen ? 3

29. (a) Explain with the help of a labelled diagram, the process of
reproduction in Hydra by budding. Name the cells used for

reproduction in this process. 3
OR
(b)  List two roles of each of the following in human reproductive
system : 3
1) Seminal vesicles and prostate gland

(i1)  Oviduct
(111)) Testis
30. List two differences between dominant traits and recessive traits. What
percentage of pea plants in the F, generation were with yellow seeds in
Mendel’s cross between the pea plants having yellow (YY) and green
coloured (yy) seeds ? 3

31. Define the term power of accommodation of human eye. What happens to
the image distance in the eye when we increase the distance of an object
from the eye ? Name and explain the role of the part of human eye
responsible for it in this case. 3

32. A student fixes a sheet of white paper on a drawing board. He places a
bar magnet in the centre of it. He sprinkles some iron filings uniformly
around the bar magnet. Then he taps the drawing board gently and
observes that the iron filings arrange themselves in a particular pattern.

(a)  Why do iron filings arrange in a particular pattern ?

(b) What does the crowding of iron filings at the ends of the magnet
indicate ?

(c)  What do the lines, along which the iron filings align, represent ?

(d)  If the student places a cardboard horizontally in a current carrying
solenoid and repeats the above activity, in what pattern would the
iron filings arrange ? State the conclusion drawn about the
magnetic field based on the observed pattern of the lines. 3

14-31/4/1 15 P.T.O.
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33. e fau o fom o st e, R @9 STER SE@el (a), (b) 3N (o) g9t
TS 7 R F=feiRaa weat o s 4 .

(a) (b) (c)

(i) 37 JIRGEl o YR % AW fafae 6 ER @ (b) AR (¢) faemm
Bl & |

(i) TH ER AT H JIH 9¥ T IEH F1 & | &M ? A IqEH
3o 3T o fore g3t <t fohaa wfsra 3ot <t Ushg (T@WT) WTd § 2

Gii) Tor & aeft S0 i T o Tk & AR = TwiE TS 7, ek fenm I
F1 & & Fehdt & 2 gfte Fifere |
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33. Study the picture given below showing three food chains (a), (b) and (c)

and answer the following questions : 3

(a) (b) (c)

(1) Name the type of ecosystems that exist in food chains (b) and (c).

(ii)  The first trophic level in all food chains are producers. Why ?
What percentage of solar energy do these producers capture for

their use ?

(iii) Why are the arrows shown in the diagram in one direction only

and not vice versa ? Justify.

14-31/4/1 17 P.T.O.
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SECTION D

Questions no. 34 to 36 are long answer type questions.

34. (a)
(b)
35. (a)
(b)
14-31/4/1

What is a chemical reaction ? Describe one activity each to show
that a chemical change has occurred in which (i) change of colour,
and (ii) change in temperature has taken place. 5

OR

(1) Define a decomposition reaction. How can we say that
(I) electrolysis of water, and (I1I) blackening of silver bromide
when exposed to sunlight, are decomposition reactions ?
Mention the type of energy involved in each case.

(i1)  “The type of reactions in which (I) calcium oxide is formed,
and (II) calcium hydroxide is formed are opposite reactions
to each other.” Justify this statement with the help of
chemical equations. 5

(i) Define a reflex arc. Why have reflex arcs evolved in
animals ? Trace the sequence of events which occur, when

you suddenly touch a hot object.

(ii) Name the part of nervous system which helps in
communication between the central nervous system and
other parts of the body. What are the two components of this
system ? 5

OR

1) Leaves of ‘chhui-mui’ plant begin to fold up and droop in
response to a stimulus. Name the stimulus and write the
cause for such a rapid movement. Is there any growth
involved in the movement ?

(ii)  Define geotropism in plants. What is meant by positive and
negative geotropism ? Give one example of each type. 5
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36. (a)

(b)
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frefefiga Jeror arferert @ forell 39 ©@ & foq fora g (w) & @1y
ldfers gl (v) o1 faeror fear mn 2 | ekt favetyor i ik A= fou

S T ﬁw@(u)cm Hﬁﬁ'@@(v)cm
1 - 150 + 30
2 - 75 + 375
3 - 50 + 50
4 - 375 + 75
5 - 30 + 150
6 - 15 + 375

@)

(i1)

(iii)

(1)

(i)

afterferd fopy fomm 3Ta oi| <1 wihd gl AT I | 319 IR

<! gfte I |

HiA-H1 YeI01 TRl Rl 7 2 i ? T o et feufa o fo wfdfers
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3@ Wi foh T a1 B 9& fopell STaqal ©id o &I A& o
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30 OE o A Tehal gt W T@n SE foh IHeRt widfors @ E €
15 cm g0 W s ? Ufcifersl 61 A5 Wi qftehlerd T |
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36. (a) The variation of image distance (v) with object distance (u) for a
convex lens is given in the following observation table. Analyse it

and answer the questions that follow :

S. No. Object distance (u) cm | Image distance (v) cm
1 - 150 + 30
2 - 75 + 375
3 -50 + 50
4 - 375 + 75
5 - 30 + 150
6 -15 + 375

(1) Without calculation, find the focal length of the convex lens.

Justify your answer.

(ii)  Which observation is not correct ? Why ? Draw ray diagram

to find the position of the image formed for this position of

the object.
(iii) Find the approximate value of magnification foru=-30cm. 5
OR
(b) () Define principal axis of a lens. Draw a ray diagram to show

what happens when a ray of light parallel to the principal

axis of a concave lens passes through it.

(ii))  The focal length of a concave lens is 20 cm. At what distance
from the lens should a 5 cm tall object be placed so that its
image is formed at a distance of 15 cm from the lens ? Also

calculate the size of the image formed. 5
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SECTION E

The following questions are source-based/case-based questions. Read the case

carefully and answer the questions that follow.

37. Three metal samples of magnesium, aluminium and iron were taken and
rubbed with sand paper. These samples were then put separately in test
tubes containing dilute hydrochloric acid. Thermometers were also
suspended in each test tube so that their bulbs dipped in the acid. The
rate of formation of bubbles was observed. The above activity was

repeated with dilute nitric acid and the observations were recorded.

Answer the following questions :

(a) When activity was done with dilute hydrochloric acid, then in
which one of the test tubes was the rate of formation of bubbles the

fastest and the thermometer showed the highest temperature ? 1

(b)  Which metal did not react with dilute hydrochloric acid ? Give

reasomn. 1

(c) (@) Why is hydrogen gas not evolved when a metal reacts with
dilute nitric acid ? Name the ultimate products formed in the

reaction. 2

OR

(¢c) (i) Name the type of reaction on the basis of which reactivity of
metals is decided. You have two metals X and Y. How would
you decide which is more reactive than the other ? 2
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38. Kidneys are vital organs for survival. Several factors like infections,
injury or restricted blood flow to kidneys reduce the activity of kidneys.
This leads to accumulation of poisonous wastes in the body, which can
even lead to death. In case of kidney failure, an artificial kidney can be
used. An artificial kidney is a device to remove waste products from the

blood through dialysis.

(a) (@) Name the artery that brings oxygenated blood to the

kidney.

(ii) Name the cluster the thin-walled blood capillaries present in

the Bowman’s capsule. 1

(b) In human excretory system name the organ which stores urine. Is

this organ under hormonal control or nervous control ? 1

(c) (@) List two major steps involved in the formation of urine and

state in brief their functions. 2

OR

(c) (ii)) In which part of the nephron does selective reabsorption
take place ? List the factors which the amount of water

reabsorbed depends on. 2
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39. Study the following circuit :

8 Q

4 Q 6 Q 16 Q

A 2
;

8 Q

N

IHHH) )
6V

Key

On the basis of this circuit, answer the following questions :

(a)

(b)

(c)

(c)

14-31/4/1

Find the value of total resistance between the points A and B.
Find the resistance between the points B and C.

(i) Calculate the current drawn from the battery, when the key

is closed.

OR

(ii)) In the above circuit, the 16 Q resistor or the parallel
combination of two resistors of 8 2, which one of the two will
have more potential difference across its two ends ? Justify

your answer.
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